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QUESTION 1

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.)

A. Usage is a synonym for bill determinants.

B. The initial measurement data can be optionally stored in Raw format.

C. A service point can have more than one initial measurement for the same period, but only one final measurement.
D. Final measurements can be directly edited or updated by users or by automated processes as required.

E. Usage is loaded in the application to generate final measurements.

Correct Answer: CDE

QUESTION 2

How many derived values can a final measurement have in addition to the primary measured value?
A2

B. 15

C.10

D.5

Correct Answer: C

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (80)

QUESTION 3

What can cause multiple bill lines for a rate component to be produced in a bill calculation header?
A. changes in Rate Schedule and Bill Factor

B. changes in Rate Version Calculation Group and Bill Factor

C. change in Bill Factor

D. change in Rate Version Calculation Group

E. change in Rate Schedule

Correct Answer: A

QUESTION 4
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What contains the details of how a bill was calculated and how it will be printed on a bill?
A. Calculation Rules

B. Rate Schedule

C. Service Agreement

D. Bill Segments

E. Bill

Correct Answer: D

Reference: https://docs.oracle.com/cd/E73180_01/PDF/4.2.2.2%20CCB.v2.5.Manage%20Meter%20Charges.pdf

QUESTION 5

What happens when a device\\'s measuring components are reconfigured (a new measuring component will be read) at
a service point?

A. A device with a new configuration type is created.
B. The original installation event is updated with the "removal” (expire old device configuration).

C. A device with a new configuration type is created. Moreover, a new installation event is created to “install" (new
device configuration).

D. The original installation event is updated with the "removal” (expire old device configuration) and a new installation
event is created to "install" (new device configuration).

E. A new installation event is created to "install" (new device configuration).

Correct Answer: D

QUESTION 6

Using a base-supplied algorithm type, what is payment distribution priority typically determined by?
A. Customer Class and Service Agreement Type

B. Payment Type + Debt Age

C. Debt Age

D. Service Agreement Type\\'s Priority and Debt Age

E. Customer Class and Debt Age

Correct Answer: E
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QUESTION 7

When a service agreement is created, it is based on a template called the Service Agreement Type (SA Type) and
values may be defaulted from a Start Option. Which three attributes can get defaulted from a Start Option? (Choose
three.)

A. Terms and Conditions

B. Service to be billed

C. Contract Quantities

D. CIS Division

E. Rate

Correct Answer: ABC

QUESTION 8

Which two statements about usage subscription types are correct? (Choose two.)
A. Usage subscription types define the main billing contact.

B. Usage subscription types define the time zone.

C. Usage subscription types define the valid service point types.

D. Usage subscription types define the recipient of the usage.

Correct Answer: BC

Reference: https://docs.oracle.com/cd/E26671_02/PDF/E18186_05.pdf (40, 41)

QUESTION 9

Which three statements are true about the different types of measuring components? (Choose three.)
A. Seconds-per-interval (SPI) is one of the attributes of scalar measuring components.

B. Only physical measuring components reference a device configuration.

C. The terms register and channel are synonyms for measuring component.

D. The measuring component types are physical, standalone, scratchpad, and TOU.

E. Scalar measuring components contain a single measurement for an arbitrary period of time.
Correct Answer: CDE

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (36)
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QUESTION 10

Which three statements are correct for Adjustment Types? (Choose three.)

A. They can default an Adjustment Amount to adjustments.

B. They control how adjustments appear on bills.

C. They control whether a rate is to be called to calculate an adjustment amount.

D. They control the valid Service Agreement Types that adjustments can be linked to.
E. They control the valid Adjustment Profiles that adjustment types can belong to.

Correct Answer: BCD

QUESTION 11

On which three entities can proration be disabled? (Choose three.)
A. Calculation Rule Business Object

B. Bill Factor

C. Calculation Rule

D. Rate Version Calculation Group

E. Rate Schedule

Correct Answer: ADE

QUESTION 12

When the source of a Financial Transaction is canceled, what does it result in?

A. The source Financial Transaction is deleted and a new reversal Financial Transaction is created.
B. A new reversal Financial Transaction is created.

C. The source Financial Transaction status is changed to "Canceled".

D. The source Financial Transaction is deleted.

E. No change occurs.

Correct Answer: A

QUESTION 13

Within the application, operational devices can be assets or components.
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Which two statements are true about components? (Choose two.)

A. Components are attached to assets.

B. Components have a disposition that tracks their location and status.
C. Components can be installed at locations.

D. Components are not a class of assets.

E. Components can\\'t have specifications.

Correct Answer: AC

QUESTION 14

Your implementation requires an installation of two types of devices:
1.

Electric Smart Meter

2.

Gas Manual Meter

Which two Device Type attributes are required to identify these device types? (Choose two.)
A. Device Business Object

B. Service Type

C. Valid Measuring Component Types

D. Manufacturer

E. Serial Number

Correct Answer: BC

QUESTION 15
Which statement correctly describes the relation between a device and a measuring component?

A. A device configuration links a device only to interval channels.

B. Two measuring components on the same device should have the same Units of Measure (UOM).

C. A device should have only one measuring component type.
D. A device can have any combination of interval and/or scalar measuring components.

Correct Answer: D
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Reference: https://docs.oracle.com/cd/E26671_02/PDF/E18186_05.pdf (33)
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